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Weirm Up

Divide using long and synthetic division: ’
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Factor Theorem
Factor Theorem

(x-n) is a factor of f(x) if and only if f(n) = 0.

Ex. Use the Factor Theorem to determine whether (x - 1)
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EXAMPLE...
Factor completely 4x” —16x° +19x 7.6 L + B
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Warm Up

#1. When a polynomial f(x) is divided by (3 X+ 2) the quotient is dx i 2x+ 3)
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with a remainder of 6. What is f(x)? 3*-}2? _F&*\ 7—,
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#2. Find k if the polynomial f(x)= (¥’ kx? —5x+3k) is divisible by
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Factoring Polynomial Expressions
REMEMBER:

Factor Theorem

(x-n) is a factor of f(x) if and only if f(n) = 0.

Ex. 6x  +23x>+29x+12

—— cubic equations can only have 3 roots!

Test values that are factors of the constant term:
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Use division to find another factor:
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Factor further (if possible):

(Y'l. 'YG Klf‘ ‘7K"-11

6 x"—"' ﬂx.t. %&f,L
3x( L t3)t 7(2”_5

Cx) @XW)({“ 3}




Untitled(18025).notebook September 24, 2014

(e x;is =0



Untitled(18025).notebook September 24, 2014

Solving Polynomial Equations

The Factor Theorem can be used to identify points where
the graph of a function crosses the x-axis.

Solve 16x° + 48x* —x—-3=0

@D Pa)= o
| "Q(#:(};s Faoe 3478013
¥ O -3

[6 0~ p




Untitled(18025).notebook September 24, 2014

Ex. Identify the points where the graph of the function
f(x): ¥’ +6x° —2x— 5 crosses the x-axis.
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